Section—C 2x14=28
(Long Answer Type Questions)
Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 14 marks.
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10. Describe  the normative theory of Mass
Communication.

A T=R & frames fagma =1 aue wifs

11. Write an article on ‘Communication Revolution
in India’.
‘YRA H R w1’ W TH a@ fafe

12. Describe the role of mass media in Development.

for # SHEER WAl wt e 1 i St

13. “Communication is a dynamic Process.” Explain

this statement with suitable model of
communication.
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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.

et - 7' weA-m e, T SR ‘| W mvel # fawifsa ®)
TIF @UE B FREYHER T # Sw AR

Section-A 7x2=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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What is Feedback ?
wfagfee =1 ¥ ?
What is Liberalisation ?
Eericuic) i
Write the full form of DSC.
DSC =1 qu "M fafe |
What is Traditional media ?
TRERETT HeA9 1 ¥ 2
Write the full form of SITE.
SITE =1 0 9 fafe|
Write the moto of All India Radio.
STRETETN & 39 9 i fafem)

Five Year Plan was started in which year in
India ?
IR H Jaa A w1 gEe| R as gt
ot ?
Section-B 4x7=28
(Short Answer Type Questions)

Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.

BJ-02/BIMC-02IM-02/ 4 (2) TC-183

Qg —d
(g 3THT T99)
fder:- =<l R vl & SW T T ST IWH
sifreham 200 s H UREifig HIGT yo® 9ee
7 3h & Tl
2. What do you understand by Communication ?
TR § M9 1 995§ 2
3. What do you understand by Development ?
faha 9 o9 = 9 § 2
4. Describe the Lasswell model of Communication.
TER & e HSe i 9uF ohifeld |
5. What do you understand by Free Press Theory ?
e U9 1 AHRo/faga ¥ eM9 o wEe ¥ 2

6. Describe the characteristics of developed and
developing countries.
fowfaa iR fommoefiia i w1 fagrome &1 avi=
I |

7. What do you understand by Questionnaire in
research 7 Describe the qualities of questionnaire.

Y A yyEe ¥ 9 R g9Id § 72 YyAee
fagroarett 1 aviE wifsT

8. Describe the role of development communication
in Rural Development.

Tty foem | foe™ 99R ® qfHeT &1 FuH St |
9. Write a note on Globalization.

JAiRTo R Tk fewoi fafem)
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